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I 2x mwn:if the blood was spilt (directly from the animal’s neck) onto the ground and he gathered it up — 5108
a  Rnma:v. 1-teaches that he must collect wain o7, not from 7'wn o7 or n'¥nnn o7 (the blood squeezed out later)
i and:990 070 means 1901 07 (directly from animal)
1 it cannot: mean 790 07 (i.e. some of the 190 ©7) as v. 2 indicates (per 17) that he needs to collect all of 190 07
(a) inference: he holds PwnT PorOIM PYI (We take away a letter from 1 word, add it to another for the nw77)
2 revisiting 27 challenge — that verse is in re: 0?79 (remaining o7, after n’n on the nvPn Nam)
(a) answer: it cannot literally be applied to 01"V, as there is no more possibility of oTh 3 < apply to nvap
3 tangential ruling (5Xm¥): when doing nvnw, the vmw must lift the knife up afterwards, so that the p>on o1
doesn’t mix with the wain o7
(a) question: what does he use to clean off the knife?
(b) answer (»22x): with the lip of the pam, as it is called 193 (v. 3), meaning “something that cleans”
b tangential ruling (Nax 72 7’077 77): MY must place veins in *93
i support: 3 " ruled that the veins must see the inside of the *53 (so that all the o7 goes in)
¢ Question re 753p (7775 708 "): if the bottom of the 93 fell out, is the nYap valid? (if it went straight to ground)
i Essence of question: is air-space with no resultant “hold” considered a place of resting?
1 Answer: ruling re: nRon 'n —if a barrel is directly under the stream of water:
(a) Any water: going inside or even on the outside of the barrel are 0’5108 -
(i) Meaning: may not hold 93 to catch water, even in air space above n’an (= considered “caught”)
(b) But if: he attached the mouth of the barrel to the stream, water on the outside (only) valid
(c) Challenge: X" asked about “bottomless air” and he answered from a case of air with a resting place
(d) Explanation: 8™ had asked him about both ; he answered that if we consider bottomless air as being at
rest — what is the ruling about airspace with a bottom, before coming to rest (answered n»an)
(i) Note: this was qov "1’s version of the q&a; X113 7 had ™ asking about the barrel and j1ny '3 answer-
ing the barrel (only); N2 had 8" asking about the barrel and »* answering from n’an:
1. 292 7. you agree that all n’parn have air-space with a bottom and that must be valid
(e) Related: 1:1 n1a — if he put foot, hand or veg. leaves atop barrel to use as spout for nxon m - s
(i) But:if he put leaves which aren’t edible (e.g. from walnut tree) — valid
(if) Rule: if he used something that is nXmY Yapn — Y109; if not — w3
1. Source: v. 4 — setup of M2 'n must be NInNva
2. Implication (872177): ¥92::93 PR (> hands in air-space are nrmvV1 DNPYNIN)
a.  Challenge (1): perhaps here the water dripped from his hand directly into »53
b.  Response: wording of mwn - nan’ onn 1ay'w *12 —implies that hand (e.g.) is a spout
c.  X7an7. this ruling was based on testimony of P12 "3 (7:1 M”TY) — re: NWYN in RHYMR (Helio?)
I Further rulings regarding proper n%ap
a  If he cut off part of the ear of the 98 after nv'nw but before n%ap —invalid, per v.1 — 990 07— must be the same 99
i Note: this only applies to nw1p *w1p; how do we know to apply it to 9"p1p?
1 Answer (K27 from &87773): v. 5 stipuates mnnn at point of nonw; i extends it through 77n71
2 Challenge (»a8): yov "1 ruled that if even one 13 remains, 03 may still do 7”71 (clearly — not n'nn)
3 Answer: reference was not to mmnnn but to still being a mw j2
(@) Question: how could it possibly be nw 1a at time of nv'NY and 1MW 92y at point of NYap etc.?
(b) Answer: this proves that we count hours for reckoning age of 0*wp
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~77.if the animal was standing in the n7ty but its legs were outside
i If: he cutits legs off first, then did nv'nw — valid (since all the o7 that came out in the nry was nvnwn oT)
1 But if: he did nv'nw first, then cut — invalid
2 Challenge: how can he slaughter the animal after cutting off its legs — it’s a n Hpa
ii  Rather: if he cut off its legs before o nYap — valid; if afterwards — invalid
1 Challenge: how can he cut off legs after nv’nw and before nTn n%ap per above - 99 must be same as at no'nY
2 Answer (n7): if he cuts the leg until the bone — not 7ax 901, but all BT comes out outside
(a) And: if he did nbap first — invalid
(b) Implication: v™1arn o7 (in the legs) is considered 07 (2 mixing with nv'nwn o7 and being yina invalidates)
(i) Rejection: perhaps it is invalidated due to fat in blood there, which is then considered ®xvn qwa
2:7 oPnar Knooi. 7'p1p and 5"pTp that went out of their “zone” during process
i 7"p1p are slaughtered naxa and the o7 is taken there
1 If: he was standing on south side and leaned in to slaughter — valid; to do nap — invalid
(a) But if: a majority of his body was in ax — all valid
(b) If: the animal was spasmodic, walked out of nax and returned - valid
ii oY% DwTp are slaughtered inside the nv1y and o7Th nYap takes place inside
1  If: he was standing outside and leaned in to slaughter — valid; to do n%ap — invalid
(a) If: he put a majority of his body inside — considered outside (invalid)
(b) If: the animal was spasmodic, walked outside and returned — invalid
iii  Implication: meat of 9”p7p that went outside before 77n1 is invalid
1 Block: perhaps it is invalid here due to tail, kidneys etc. that go on narn and are invalidated xxva

I 5%nv’s father’s questions of his son, including related questions posed by later wnan

a

b

If: the animal was inside and its legs outside — may it be slaughtered?

i Answer: invalid — per v. 6 — must all be inside

If: the animal was suspended over the N1y, may it be slaughtered?

i Answer: valid

ii ~ Correction: invalid — we require nvo'nw to be at the side of the nam (namn 717 %)

If: the 1n> was suspended, may he perform nomw?

i Answer: invalid

ii ~ Correction: only requirement is that animal be placed at namn 71’; no such requirement for vmwv

If: the 11> was suspened and did oTn n5ap — valid?

i Answer: valid

ii  Correction: this isn’t the manner of service (M 717)

If: the animal was suspended and the 172 did ©7h n%ap in that manner — valid?

i Answer: invalid

ii ~ Correction: only a requirement of 77 %» nvNWY, not 717 Y» NYap (animal may be suspended)

»2x: re: all of these circumstances:

i Incase of o7y *w7p. invalid, except for the 103 being suspended and performing nomw

it In case of 0’5y ow17 valid, except for the 102 being suspended and performing oTn nvap (MY 777)

iii ~ Challenge (¥37): why distinguish between 1,1 n%n in each case; either being suspended in the air-space is tanta-
mount to being in that space or it isn’t

Rather (x#37): all are valid except:

i vnw 750 (if animal was suspended for 7v’nY): in case of WP *WTp only

it Sapy nbma (if jn>was suspened for o777 153p): for all — problem of MW 777

Question (7707 10f 871 79): if the 103 is inside and his hair is outside - valid nmay?

i Answer: just as we interpreted v. 6 as meaning that the animal must be fully inside
1 Similarly: we interpret v. 7 as meaning that the 102 must be fully inside (2 9109)
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